M = ¢(H?) L BX.

0 1 0 0
-1 0 0 O

H(2z2,21) = 00 0 11° ¢ (21, 22)
0 0 -1 0

=(4) = (59)

Spa(Z,5) = {M € Spy(Z) | *JMJ = M (mod 2)}
B L, Spa(Z,5) 1% Spo(Z) DEABTT(2) 28T,
®(SLa(ox) C Spa(Z, 5)

PRILT S, m e Z2 X, jm =m (mod 2) 2HEF L ¥, mod 2 diagonal £\
D. characteristic m = (m'm”) i&, m’,m” 3£ %12 mod 2 diagonal TH 3 &
&, mod 2 diagonal X IFEIEN 3. mod 2 diagonal 2% m I

ZXUT

(‘m’,*m"") = (0000), (0011), (1100), (1111)
D4DOTHB.
b= [] Om

mod 2
diagonal

8L L, (02)° € M(Spa(Z, 7)) T, (62)2M € My(Tx). T (6)%M A3 Ker D
DEBRTERS.

4.2.2 Symmetric case
2 4.3 (Gundlach [16], Hirzebruch [24], Nagaoka [39], Miiller [29])
M*(T'x) = C[Gy, 54, 6, s9),
A quadratic relation: Nagaoka [39] ’T%:;

S5 = 86(—17285% — 288G8486 + Glsg — 102453 + 4G2s2).

N _ 1+1¢°
kz_——%dlka(PK)tk— B0 AT P
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